Section 5.4 — Review of Sum and Difference Formulas

Find the EXACT value of the following using sum and difference formulas:

1) sin(15°)

3) COS(195°)
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sin(9+[3)=

sin(e—[_’)):

cos(6+[3):

cos(e—B)z

tan(9+[3):

tan(G—B)z

sinBcosP+cosOsinf
sinBcosP—cosOsinf3
cosOcosP—sinBOsinf3
cosBcosP+sinOsinf3

tan0+tanf
1—tanOtanf

tan0—tanf}
1+tan6Otanf3

)

2) tan(75°)

4) sin (111—:)
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5) tan (213—2”) 6) cos (119—:)

Write as sine, cosine, or tangent of an angle. After writing as a single function, find the value (if
possible without a calculator).

tan35°+tan10°
1—tan35°tan10°

tan 68° —tan115°
1+tan 68°tan115°

9) sin(72)cos(12) —cos(72)sin(12)

10) cos15°cos120°—sin15°sin120°

11) tan(100) + tan(20)
1—tan(100) tan(20)

12) sin90°cos45° —cos90°sin 45°

13) cos(94°)cos(18°)+sin(94°)sin(18°)
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14) Find the EXACT value of the trig function given that

. 4
sinu = 7 cosVv = 3 and both angles are in Quadrant IV

a) tan(u—v) b) cos(u+v)

15) Find the exact value of the trig function given that

-3 -5
sinu= 5 and cosv= Ty where both u and v are in Quadrant III.

a) sin(u—v)

b) cos(u—v)

c) tan(u+v)
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16) Solve the following equations in the domain [0,27)

a) 2(sin2xcosx+cos2xsinx)= 2

b) 2cos2xcos3x—2sin2xsin3x =1
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